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Section 1 - General Aptitude-English Subject

1) In the following question, four alternatives are given for
the idiom/phrase italicised and underlined in the
sentence. Choose the alternative which best expresses the
meaning of idiom/phrase.

This is in vogue in some communities.

A) in fashion

B) out of use
C) vaguely used
D) never used

2) Rearrange these parts labelled A, B, C and D to make

a meaningful paragraph, and choose the most
appropriate answer.

A. One of the beauties of Leo Tolstoy’s novel 'War and
Peace' is that it does not end when the war ends.

B. It ends instead when the hero gets married, and settles
down to a life of routine, even boredom.

C. In conveying this ceaseless ebb and flow of life, Tolstoy
captures its very essence.

D. Concluding it at the moment of heroic drama would have
destroyed the integrity of the novel.

A) ABDC
B) CABD
C) ADBC
D) ABCD

3) Read the passage below and answer the question
that follows :

The ravages [of the storm] were terrible in
America, Europe, and Asia. Towns were overthrown,
forests uprooted, coasts devastated by the mountains
of water which were precipitated on them, vessels cast on
the shore, whole districts leveled by waterspouts, several
thousand people crushed on land or drowned at sea; such
were the traces of its fury, left by this devastating tempest.

What is the meaning of the word leveled as it is used in
the passage?

A) razed
B) marked
C) spread
D) raised

4) Synonym of vent

A) Wet
B) Dent
C) End
D) Opening

5) Find out whether there is any error in any part of the
below sentence. If yes, indicate the correct answer among
the given options, else indicate "No error": | visited Ricky's
and Maria's house (1) / twice but didn't (2) / find the
couple. (3) / No error (4)

A) 1
B) 2
C)3
D) 4
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Section 2 - General Aptitude

6) A man's speed with the current is 15 km/hr and the
speed of the current is 2.5 km/hr. The man's speed against

the current is

A) 9.5 km/hr
B) 10 km/hr
C) 10.5 km/hr
D) 11 km/hr

6) URT o AT Tk ITGAT T Ifd 15 km/hr § 3R 9rT &Hr
aifd 2.5 km/hr § | 9RT & fasey 3mgsAr & aifd aar gl

A) 9.5 km/hr
B) 10 km/hr
C) 10.5 km/hr
D) 11 km/hr

7) A merchant can buy goods at the rate of Rs. 20 per
good. The particular good is part of an overall collection
and the value is linked to the number of items that are
already on the market. So, the merchant sells the first good
for Rs. 2, second one for Rs. 4, third for Rs. 6...and so on.
If he wants to make an overall profit of at least 40%, what is
the minimum number of goods he should sell?

A) 24
B) 18
C) 27
D) 32

7) T AR 20 U YA G A X F A Tg
Fhdl & | 98 Al AT 3Teheled & BEAT & 3R Ao
waﬁrﬁﬁmﬁqagm%mm@amﬁ
¢ | safaw, sl gger AT @ 2 TIT H, gEX H 4
U H, N A 6 3T A .. 3 3 Rg JTar g | I
aE ol AT 7 @ HH 40% HT AT FHAT QT &,
an, 38 &A A FA fHdar AT g9 afge ?

A) 24
B) 18
C) 27
D) 32

8) If GOODNESS is coded as HNPCODTR, then how
GREATNESS can be written in that code?

A) HQZSMFRT

B) HQFZUFRTM
C) HQFZUODTR
D) HQFZUMFRT

8) Ife GOODNESS &I HNPCODTR & ¥4 & &Ifsd fohar

ST &, dF GREATNESS &I 39 s # 9 fo@r &
ThaT § ?

A) HQZSMFRT

B) HQFZUFRTM
C) HQFZUODTR
D) HQFZUMFRT

9) Mrs.Veena wants to go to the Krishna Rajendra market.
She moved northwards and after covering some distance
turned left and moved 4 km and reached a crossing. The
road in front of her led to Jaynagar while the road on to her
left led to Bangalore Medical College and the road on to
her right led to the Krishna Rajendra market. In which

direction the Krishna Rajendra market is located with
reference to the starting point?

A) West
B) North-West
C) South-West
D) East
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9) AFH oM, FEUN Tolg SGR F AT =B § | T8
3cc & 3R 987 3R $o gl a7 & & a6 a5 AR
A AR 4 km T 3R TF FRT W A | 3AH
AHA HT TS JATAIR T 3R A A SJafd 3T a1
AR & T5F AR AfSFA Fiotor A AHR S & 3R
35 arfeell 3R HT FSeh FEUM Iolg SR AN 3R AT
o | YN foig @ Foom Tolg SER R feur & Rurd
g2

A) gfeas

B) scar-ufRas
C) gfaor-afRas
D) q§

10) In November 2021, ................. hosted the first fully
digital Asia-Pacific Economic Cooperation forum.

A) New Zealand
B) India

C) Canada

D) Australia

10) ge¥ 2021 #, fFg o7 o wgel IR @@ e @
Sfoear vhRar-gena s dedier #g v AT &7

A) wehels
B) ;g
C) ¥aer
D) st for

11) is a numerical label assigned to each
device participating in a computer network.

A) E-mail address
B) Topology

C) FTP

D) IP Address

11) oo Teh HEICHS olddl § Sl $Hged sicds &
Jcdeh 3YRIOT I AT ST &

A) &R qar
B) arareivett
C) uwerdr
D) 3édt war

12) The following series is based on a specific pattern. Find
the next number in the pattern.

5,12, 23,50, 141, ?

A) 415
B) 430
C) 439
D) 488

12) ferfaf@d H@er wh faRise Yeod o 3mama § |
Yoot # 30T AR Trel |

5,12, 23, 50, 141, ?

A) 415

B) 430

C) 439
D) 488

13) If 17t March 2008 was Monday, what was 1st April
2012?

A) Sunday

B) Wednesday
C) Friday

D) Saturday
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13) fg 17 AT 2008 & FHAR AT, ar 1 3T 2012 FHr
T AT ?

A) faar
B) qerar
C) e
D) erfar

14) A man sitting in a train which is traveling at 50 kmph
observes that a goods train, traveling in opposite direction,
takes 9 seconds to pass him. If the goods train is 280 m
long, find its speed in kmph?

A) 60
B) 62
C) 64
D) 65

14) 50 kmph &7 9ifd & Tl W ¢ H T Th AGAT
2gar ¢ & Juda fem # I W v AEnS 39 UR
FA H 9 Hhs &I AT oIl § | IfE AT@mEr 280 Hex
e &, aF 39 Afd kmph & a9 ST :

A) 60
B) 62
C) 64
D) 65

15) When 0.36 is written in simplest form, the sum of the
numerator and the denominator is :

A) 15
B) 34
C) 64
D) 13

15) 1§ 0.36 & TWoldd & F for@r rar g, ar 3ier 3R
& FT AT fohder g

A) 15
B) 34
C) 64
D) 13

16) Headquarters of World Trade Organisation

A) Washington DC, United States
B) Geneva, Switzerland

C) Paris, France

D) Vienna, Austria

16) faed cTTAR HaTseT T HEATT Fgl & :

A) arfieTest S, TYFT TS AR
B) Sefrar, feacerels

C) o, wiw

D) faga, 3itfeear

17) Which of the following is the Civilian award conferred
as 1stdegree of honour?

A) Padma Vibhushan
B) Ashoka Chakra
C) Kirti Chakra

D) Bharat Ratna

17) PFafaf@d & @ FA-A1 AERE RERR Fated
TFATT & ®9 # YeTe fhar Sram § 2

A) aegr fsywoT
B) el T
C) fifd ==
D) e Tt

18) In an election contested by two parties, Party D
secured 12% of the total votes more than Party R. If party
R got 132,000 votes and there are no invalid votes, by how
many votes did it lose the election?

A) 300,000
B) 168,000
C) 36,000
D) 24,000
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18) &Y gell @RI of$ IV AT A, 9él D & 9l R & el
aret &7 12% 378 ureg Far | afg ot R &1 132,000

die e 3R FIS 3T dic 7T &, O rda Qe ¥ 9
AT ER ?

A) 300,000
B) 168,000
C) 36,000
D) 24,000

19) Green India Mission was launched in 2014. The
primary aim is to

A) promote green energy in India.

B) promote techniques that will help in the optimum
utilisation of resources.

C) protect, restore and enhance India’s diminishing forest
cover.

D) None of the options.

19) 8RR R A= 2014 & & Tham arm o1 | gHaAT
JIAfHE 3652 T ¢

A) 9Ra & gRa Foil &I Forar &

B) 57 aeelienl I Forar S S HEE & 3o
39T # Heg Ham

C) oia & g oo &1 & 8T, g 3R g
T

D) 1§ e el

20) There are 24 students in dance class, and the teacher
is planning for an arrangement of students on stage.
Sampratha is 9th from the left side of the row and
Supreetha is 22nd from the right side of the row. Find the

number of dancers standing between Sampratha and
Supreetha?

A) 4
B) 5
C)6
D) 7

20) Th ocd el # 24 ©1F § 3N et 7 ) o 6
TIGEAT HiAT AT §T QT & | 9T gfFd & 18 3R
¥ Ald T W g AR ghar 9fFd & g 3R @ 224
WA R Y| Fr 3R ghar & &g @s Adfeat
&N AT HITAT

A) 4
B) 5
C)6
D) 7
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Section 3 - Civil

21) For Walls, Columns and vertical faces of all structural
members, the form work is generally removed after

A) 24 to 48 hours
B) 3 days

C) 7 days

D) 14 days

21) @t TOATcA® 3PN AT dan, TEHT AR FeaEtr
Felahl iU, WIH g @ H dR W S gerdm
ST §

A) 24 & 48 ©E T
B) 3 fear
C) 7 feer
D) 14 fe=1

22) As per IS 1172-1963, water required per head per day
for average domestic purpose is

A) 50 litres
B) 65 litres
C) 105 litres
D) 135 litres

22) 3MSTH 1172-1963 & 3I(ER, AT e 38T
T iy =i & yid ot fohcem ar=ir 3mafera & -

A) 50 ofrex
B) 65 drex
C) 105 dex
D) 135 ez

23) Aeration of water is done to remove

A) Odour
B) Colour
C) Hardness
D) Turbidity

23) 7ol aTdel FAT foiehTelel ol fohar SITar §

A) Fier
B) gar
C) oRar
D) dermger

24) As per IS 2911 the slump of concrete for bored cast in
situ pile at the time of pouring is

A) 50 to 100 mm

B) 100 to 120 mm
C) 150 to 180 mm
D) 200 to 220 mm

24) AMETHE 2911 & 3FER, oI5 & g g dsd
FHfIT ST & HT FHehle FT 39T fohd=TT glem :

A) 50 to 100 =T

B) 100 to 120 f&#T
C) 150 to 180 fA=
D) 200 to 220 A=Y

25) Total pressure on the vertical face of a retaining wall of
height h acts parallel to free surface and from the base at

a distance of

A) h/a
B) h/3
C) hi2
D) 2h/3
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25) 318 TT I TF yauRa SR & d€ad Beld W

Tl gdld, HFd T H FARIR AR T @ vt g
W H FAT ¢ -

A) /4
B) a3
C) w2
D)2 w3

26) The ratio of the diameter of reinforcing bars and the
slab thickness is

A) 1/4
B) 1/5

C) 1/6
D) 1/8

26) gdfold ARAT & AE IR Told Geled &I Ul
e & :

A) 1/4
B) 1/5
C) 1/6
D) 1/8

27) The minimum diameter of longitudinal bars in a column
is

A) 8mm

B) 10mm
C) 12mm
D) 16mm

27) Uh TN H AL ARAT &~y H oA fhder §

A) 8 e
B) 10 &
C) 12 A=
D) 16 &

28) Two major constituents in the composition of steel used
for rail are

A) Carbon & Silicon

B) Manganese & Phosphorous
C) Carbon & Manganese

D) Carbon & Sulphur

28) eI HfAT Jgod FEUTT HiT T H & WT veh
PiT-alT @T §

A) s 3R Rafasa
B) e 3R wrawed
C) sreet 3 s

D) &rder 3R Fow

29) Side face reinforcement shall be provided in the beam
when depth of web in beam exceeds

A) 50 cms
B) 75 cms
C) 100 cms
D) 120 cms

29) Sig 1T H qT & TS hdar T 3¥F @ W g
Tolsh Udoled aiH & YelT fhar SreeT ;

A) 50 I
B) 75 a.#Y.
C) 100 &=,
D) 120 @7

30) A first class brick when immersed in water should not
absorb water more than

A) 15%
B) 20%
C) 22%
D) 25%
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30) Ueh 3Te IUIAETe $C &I 519 Ul H ZaAT Sifr §
A G O 31Ttk urel g HEe =Ry

A) 15%
B) 20%
C) 22%
D) 25%

31) The limits of percentage of steel for the longitudinal
reinforcement in a RCC column is given by

A) 0.15% to 2%
B) 0.8% to 4%
C) 0.8% to 6%
D) 0.8% to 8%

31) U yefoid HIHe shehic Tde # IAEd Taolal HidT
SEUTT & gfard Fr G fohdeir gem :

A) 0.15% to 2%

B) 0.8% to 4%

C) 0.8% to 6%
D) 0.8% to 8%

32) Crushing strength of good building stone should be
more than

A) 50 N/sgmm

B) 100 N/sgmm
C) 150 N/sgmm
D) 200 N/sgmm

32) 3 fAAUT U2k &7 Teold 9ol fohdel & A8H gl
IR

A) 50 T/ TRET

B) 100 wa/aet R
C) 150 TaA/ast A
D) 200 wer/ast A

33) Minimum pitch of rivets shall not be less than (Where d
is the nominal diameter of the rivet)

A) 1.5d
B) 2d
C) 2.5d
D) 3d

33) Ficteh & ~PAdHA AT sl & FA A gleil AT
(STeT & Frereh FIHTTI TR | )

A) 153
B)2 &
C) 2.5
D)3 &

34) If the depth of actual neutral axis in a beam is more

than the depth of depth of critical neutral axis, then the
beam is called

A) Balanced beam

B) Under reinforced beam
C) Over reinforced beam
D) None of the above

34) Ifg frdT 7 A aedfds deey a7 i AT GEA

TeTy 3187 &Y IS T AP g, o, 39 1T T FAT Fgl
ST §

A) Tqfera @

B) yafara e & ded
C) gafara & &
D) geat @ IS of a1

35) The runway orientation is made such that take off and
landing of air crafts are

A) Along the wind direction

B) At an angle to the wind direction
C) Against the wind direction

D) None of the options
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35) T T S RE @ ST AW § O g 38) If the pH value of sewage is 7, then the sewage is
STt T & 3 IR AfFer A g ¥ A) Acidic

B) Alkaline
A) gar &1 feem & @y

C) Neutral

B) gar #r f&em & #ior W D) None of the options

C) gar & fgar & famda

D) 7% famew ot 38) afg @ &1 drvg A 7 &, O dasr Far g
A) 3rFi

36) In Indian roads, the camber on pavement is provided

by B) emdrr
C) geey

A) Straight line method

B) Elliptical method D) sied 15 A8t

C) Parabolic method
D) Straight line and parabolic method

39) Optimum number of revolutions over which concrete
required to be mixed in mixture machine is .

36) HRAIT HShl #H, Uy W ol Fd g FarT

A) 20
RIT ST %— : B) 30
C) 40
A) drely Yar [ D) 60
B) dréigear Rt
C) qraaf¥s fAfer oo
39) fAsor @i #H Shlc F Ao Hfew @fEd
P) ey Y 3t wawfas R qReFAOT & oo HEdr fFdel §
A) 20
37) Which one of the following is categorised as a long- B) 30
term loss of pre-stress in a pre-stressed concrete member? C) 40
A) Loss due to elastic shortening D) 60

B) Loss due to Friction
C) Loss due to relaxation of strands

. 40) Workability of concrete can be measured using slump,
D) Loss due to anchorage slip compaction factor and Vee-bee time. Consider the
following statements for workability of concrete:

37) rAfafEd § ¥ R N-1ws Fhe AR 7 -8 ()As the slump increases, the Vee-bee time increases.

F Qo e & &9 F e be foam amm & 2 (ii)As the slump increases, the compaction factor increases.

A) deeR &1 F&Er F gl

B) wrdor & FRoT @it A) Both (i) and (ii) are True

C) Bz & RIVear & RO gy B) Both (i) and (ii) are False

D} therrey fosrg & #eoT oy C) (i) is True and (ii) is False
D) (i) is False and (ii) is True

Which of the following is TRUE?
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40) sehic T FHRIAT HI IaUTd, Heelel HRE AR -
FAT FT 3UATT Fh AT ST bl § | dshe Hr
AT Hfav Arafaf@d syar w faEr #

(i) SA-IF I Fed &, - FT TAT Tl ST § |
(ii) V- IFUTT Fed! &, TGIA HRE Tl & |
Aefafaa & 4 sla-ar @@ ¢ 2

A) gt (i) 3R (i) T § |

B) @it (i) 3R (ii) 1ot ¥ |
C) () =& & 3R (ii) o1 & |
D) (i) arera & 3R (ii) TEY & |

41) In a cement concrete pavement dowel bars are used in

A) Longitudinal joints
B) Construction joints
C) Dummy joints

D) Expansion Joints

41) @T shic Peary & Sidel GRAT 1 3T fhah
fere foram sirem § -

A) yepted S
B) frwior Sits
C) 53t st

D) faear s

42) As per Noise pollution (Regulation and Control) Rules
2000 of India , the day time noise limit for a residential
zone, expressed in dB(A)Leg, is

A) 55
B) 65
C) 75
D) 85

42) 9RA & tafd geuor (Afegss 3R fogeon) e,
2000 & 3EER, ST (V)UesHy A eFFd Th IMaRT
8T HfoT T & Tay $r eafa dar st §

A) 55
B) 65
C) 75
D) 85

43) In soil testing, a pycnometer is used to test

A) Dry density
B) Water content
C) Bulk volume
D) Void ratio

43) FeT glietor &, e 1 v fhd gfieior sfaw
fraT STaT §

A) s befed
B) qreiy &7 AT
C) e AT

D) e 3reare

44) Let the characteristic strength be defined as that value,
below which not more than 50% of the results are expected
to fall. Assuming a standard deviation of 4 MPa, the target

mean strength (in MPa) to be considered in the mix design
of a M25 concrete would be

A) 18.42
B) 21.00
C) 25.00
D) 31.58
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44) AT AT & HAGEIOT 97 &1 37 Hed & & H
gRAT fhar /= §, e ded 50% & e g
g5l T 3FAIG AL & | 4 THAT & Ae Aged H
AT U, TH 25 dhehlc & N7 Bemsd A AR H A) Feary & FEaE B A Hfaw
STeiarell oferd 3ad s (TAAT #) fohder gl B) Stz # weage & Ffav

46) Fhshlc Peurd H Teh Tl Sits fha T wer= fomar
STl §

A) 18.42 C) geary A FOAM B FA A o Peary F dfFar
B) 21.00 HAHAT T FA FLA HfT

C) 25.00 D) gearer fr e FH AIAS AT B FA F
D) 31.58 S

4.5) Four columns of building are to be located within a plqt 47) Permissible bending tensile stress in high yield strength
size of 10mx10m. The expected load on each column is deformed bars of grade 415 N/mm? in a beam is
4000 kN. Allowable bearing capacity of soil deposit is 100
kN /m2. The type of foundation to be used is
A) 190 N/mm?2

A) Isolated Footing B) 230 N/mm?
B) Raft Foundation C) 140 N/mm?2
C) Pile Foundation D) 415 N/mm?2

D) Combined Footing

47) 7 # I3 415 UA/TATA2 & 3Td AT g & Tdhed
45) SARA & IR &&GH 10 A X 10 AT & HHR F aiEt 7 segAa dfer Sarse v fhaer §
& # fyd & § | 93% TH X 3afaid ¥R 4000

A ¥ | HE TOAA H TR IR &THEAT 100 A) 190 wer/ Y2
FUA/TAZ § | 3T T TG AT F IER FA-AT § B) 230 w1/ fA#Y2
: C) 140 T/ a2
. D) 415 w1/ a2
A) gures g
B) g1 offa
C) &7 g 48) Two contour lines having the same elevation
D) fafaa st

A) Cross each other
B) Cannot cross each other
C) Can unite together

46) A contraction joint is provided in concrete pavement to D) Cannot unite together

A) Prevent contraction of the pavement
B) Permit cracking at the joint

48) THATT FdTgdlell &l THATT IV ......
C) Lower the bending moment in the pavement in order to
reduce pavement thickness
A w FaT
D) Lower the temperature gradient across the depth of the ) w FI AR ®
pavement

B) s g &I UR AT F TRl §
C) v w1y I3 @ §

D) v @rer w1t 5 FhaT ¥
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49) Factor of safety adopted by IS : 800 - 1984 while
arriving at the permissible stress in axial compression, is

A) 2.00
B) 1.00
C) 1.67
D) 1.50

49) 3l s # HTAY gOld W TgI4 F N
3MSTH : 800-1984 CART 3UAAT IAT FRET H FRh
fhdar § :

A) 2.00
B) 1.00
C) 1.67
D) 1.50

50) The angle of intersection of ridge line and contour is

A) 45 Degrees
B) 30 Degrees
C) 90 Degrees
D) 75 Degrees

50) Rer @1 3R FAT @1 & gfacsed FIoT  ohder
glam :

A) 45 fair
B) 30 faafr
C)oo foalt
D) 75 faafr

51) Allowable average shear in an un-stiffened web for
beams made of steel of grade 250 N/mm?2is

A) 250 N/mm?2
B) 165 N/mm?2
C) 150 N/mm?
D) 100 N/mm?2

51) 250 TS/TATHZ AT & T & o &F7 &folU TH
3R 39 & T 3iaa 3ow9or R §

A) 250 T/ TRHT2
B) 165 wer/ faef2
C) 150 war/ A2
D) 100 wer/ A2

52) The effective length of a circular electric pole of length
L and constant diameters erected on ground is,

A)0.8L

B) 1.20 L
C)1.50 L
D) 2.00 L

52) oidlg Tel & Ueh JeclohX Tdegd @ T T ofels
IR FHT 9 @er T ar TRl s fRder §

A) 0.8 T

B) 1.20 wer
C) 1.50 T
D) 2.00 Ter

53) Mean sea level indicates

A) Lowest level of water reached in cyclic wave
B) Average height of sea determined over long period
C) Difference in elevation of consecutive waves.
D) Highest level of water reached in cyclic wave

53) A THg TR FAT ST L & ¢

A) THRT alar F agar I T JER FEer &R
B) & 3rafer & foeifa wogg & sttea =
C) arepara @ & Fars 7§ HeR

D) asfrer adar & ogar 9l & 3Taan &R
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54) The quantity of water retained by subsoil against
gravity is termed as

A) Specific yield

B) Specific retention
C) Yield

D) Porosity

54) 3ERfA CART [&carch¥or & faveyr HagId drer &
ATAT &Y FAT FHgl Al §

A) fafrse afser
B) fafarse ufaeror
C) afser

D) gerar

55) Mastic asphalt is generally used for

A) Fire proofing

B) Sound insulation
C) Water proofing
D) Aesthetics looks

55) AT HA¥ed 3R H1 39991 fhas fow fRar
ST §

A) 31fFeT Aurs
B) eafer Qeret
C) St et
D) dfest qwar 3mmeiteeT

56) Development of fissures in the plastered surface is
called

A) Crazing

B) Cracking

C) Blistering

D) All the options are correct

Pagel3of14

56) TeTecR $T Tdg H SIRT & [ahrT FI FIT Fgd & -

A) gag Ricee

B) wreepar

C) feoreeRar

D) @shr faspow @dy &

57) The maximum permissible deflection for a gantry girder,
spanning over 7.5 m, on which an EOT (electric overhead
travelling) crane of capacity 200 kN is operating, is

A) 8 mm

B) 10 mm
C) 12 mm
D) 18 mm

57) 7.5 #Aex ¥ 3% $a A ha wfaw 3f¥waH
3ogAd faeigor, S| @ 200 & T &THAT F Uh SN
(afeee NS afder) T &1 gael &, a fohcar ©

A) 8 T
B) 10 faei
C) 12 fas
D) 18 fAetr

58) A temporary coffer dam is to be built to protect the 5
year construction activity for a major cross valley dam. If
the coffer dam is designed to withstand the 20 year flood,

the risk that the structure will be over topped in the third
year exactly is

A) 4.5%
B) 10.5%
C) 15.5%
D) 20%
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58) U WHW HE ol iy Hfaw 5 @ Hir fAsAtor 60) TATTRATSAT H Teh HleTeh 3NSHEI TETOT o Hohd feam
AT Y FR&T 8 Teh AT FHIR S AT e f 0.02 Mex wer Rebell AT & T H 90 %
g | afe T 1T FT 20 gTAT HT 96 FT GTHAT FA waffe FAGA ¥ o H 0.5 RF oforar & | W@ &
v f3amsa fFar ar §, aF 38 &@@er gt e av Wl & 9T FAS A #T 2 A A WA F o

# 3oMT SAAaTell iR e SfEH foher & IR FA gdT gef & A TR A fhael feat w
AT PN

A) 4.5%

B) 10.5% A) 2500 R

C) 15.5% 8

D) 20% ) 5000 &=t
C) 1000 fee
D

59) In the design of a reinforced concrete beam the ) 365 feet

requirement for bond is not getting satisfied. The
economical option to satisfy the requirement for bond is by

A) bundling of bars

B) providing smaller diameter bars more in number
C) providing larger diameter bars less in number
D) providing same diameter bars more in number

59) yafold Hshic &I & BoEaT & 13 Fr maeTshdar
YT 8 & W § | a5 A HERTHAT B QT FWA H
PHEEIdr [ahed ia-ar g :

A) |RET Y SieeT

B) 31frer dear & oler eard arar GRAT Jered el
C) s dar & 931 1w arem GRAT YeTel e

D) e d&ar & Fae arg arell AT et e

60) A standard Oedometer test in the laboratory indicated
that a 0.02m thick clay specimen took 0.5 days to undergo
90% primary consolidation. How many days will a 2m thick
layer of identical clay sandwiched between sand layers and

subjected to an identical stress increment take to undergo
the same

A) 2500 days
B) 5000 days
C) 1000 days
D) 365 days
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Answer KEY:-CIVIL

Question No. Answer Question No. Answer Question No. Answer
1 A 21 A 41 D
2 C 22 D 42 A
3 A 23 A 43 B
4 D 24 C 44 C
5 A 25 B 45 C
6 B 26 D 46 B
7 C 27 C 47 B
8 D 28 C 48 D
9 B 29 B 49 C
10 A 30 B 50 C
11 D 31 C 51 D
12 D 32 B 52 D
13 A 33 C 53 B
14 B 34 C 54 B
15 B 35 C 55 C
16 B 36 D 56 A
17 D 37 C 57 B
18 C 38 C 58 A
19 C 39 A 59 B
20 B 40 D 60 B







